2018 FEFEM L EHFH RS
(FRT3i8)
B AR AR

Y77 AR TR A R (LU F Wk “AR ") B, 4 A
B (AT (TR b T2 F g e A ST I 0 SR L) e, VMR A 7
(L) (LR, 76 2018 42 T0F s ST AT 3, WA B 1503 o 2 R T 2,
FRtt A R SR F ST L, F 40 RN AL S AR, 4 T 4
RIS, A T 2 A AR R £ A AR H B VL35 «

—. BAWHER

2018 4EfE, ARIEAIET 6 KEHS, WRESM, WABERR, ik
FUBAT T s # SR IR 5%

AN ST, 757 R 4o 330 T R F DRI Hh e A S
BURIVERE, PEANT MR A AR P R RIS B NI, N 2 T L T 751
WA TR, 2UE, ANAEE ML, BIS 5 AR I AR,
A T S R P R T AR .
= RRMSIELER

2018 ERE, A NIRRT IR H T, (A R R S SR
HEF TINELRL, SRS, RIS, SRS, WS SR s
T TARAERT. I, AR ARIZS, SRS A 2 ) B i o B L
HIURF TSI E I, VISRAT T RIS, Bk R

e F I B IR

2017 4 FEX 2 I AR S AR ORI T7 o5 A Al
Y. AFTEAE L. 2017 SRR AR B
TP RS 2017 FERNE SIS BiE
2018 SEEEH MM B A N B et AT
WEFFH T 2STPEORAR T, 2017 SFEE S
R CEFEN N . X AR I S5 A R

20184 4 A 20 H

)=
il

2018 5 4 H 25 H | AR E N BT AN B (B o) LA

XA E] 2018 4 F IR A oA SR BT
20188 A3H |y th e w hMB RS L

[ 22 w5 BT Bt (BB i

POVSTEORIOT | Jn v ety 6 B e it (A




=, RS ARBR A T H AT AR

1. 2018 4FFEAR N 2t JBAT 17 AL E R 5T, A0 T 2 S R Y
FAWE, BRI D MR AN A A TN B A%, (ERb3Eat -, 4k
N W EEIE AT R AL

2. NATH T IRARIGE TN, 20184EA NFI IS N2 W HIHL 2 2 A =
BEAT I AR T i, AN ST B =) s o w2 IR0 A E I H 3 AR
FVCHR, JFE T R REE S 7 NS AR E ., EHSM . M55 5ot A KA
FRNAOREEIE R, K TERARAE S5 RKENN, KETIWIEH L RIS
NI A R EEARDLIEEN, RANFE ARS8 KR RTLE 5Pk, S
PR A, OSEHbEAT 7L E SRR T

3. WA EE IR K EH RFIEEMH T &M AR AN WA
BNTFME B SE. W K. SR, D)LY AR AR KR B

4, WEAMZEESR. @ERTUEN, FHCE BT T AS03E F I,
ik T SEH SRR R NE, YIsScgidn 1 A = A A i B 2R I R 2

5. AR SIAH DB IR R & ok, ARSI (A /120 GIEFRZED (HT
SUFHENDY SRR AE GBS I
o, ®e

1. BAMEFRWATERE GO E:

2. VA AL U BRI 2 T T 5 T R A

3. BT H R PRI S R LR AT S AL 1 R A

PLE AR AAE b S # S A 2018 4R 1 B AT LS R 0 AV A
. BRRFR: MOLEFIIIE, HFIHE: guowd@cdi.com.cn

JT R A7 PR 2 ]

MArESH. A

201941 A 28 H


http://email.fangda.com/coremail/XT3/pab/view.jsp?sid=BAHQJPddDcoNkhbBrXddjQwBmfVcaioX&totalCount=64&view_no=20&puid=16&gid=

